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ECONOMICS
Paper : ECO-HC-2016

( Introductory Macroeconomics )

( Honours Core’)
 Full Marks:80
Time : 3 hours

The figures in the margzn zndzcate full marks 1
for the questzons ’ il i

1. Answer any ten from the followmg questmns
| 1 X 10 10 -
o SR ﬁ @I TR %—a ﬁzn -

(a) Who was the first economist to h e
coined the term macroeconomms"a
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(b) What is meant by deprematlon Cost?
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(2)

() Distinguish between intermediate goods
and final goods.

T8 D I peTs TWAR WS el fefy
0|

(d) Give one example of transfer wmﬁboa

R RONGR qb1 Sarmaer oy |

(e) Define gross domestic product.
o T BRATR TKw gy |

() Whatis S&oQQ of o_aoﬁmnos of Boanwv L |
TR oo el Ry o Ve |
(9 What is money mzvva% , T
i 3\ How does credit onomnob mhmog Boso%
. supply? figl ;
,mm;wzmmmggﬂaﬁa%ﬂmlﬁ
CHeTd 2
| WHE What is :@E&Q vnmmanmaomv Sk o

() Define ‘open anwnn ovoamﬁosm as m.,
tool of monetary policy.
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(k) UESSmEmS " between

() Which noﬁsﬁé is ?oEm

2. '‘Answer ws% five

(3)

demand-

inflation mﬁm cost-push inflation.

S s Jarfe @ ﬂ%a
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aoomssﬁv .
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Erokeet]
?.; Mention Say’s law of Bu.ann
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«E State _.oﬂo nwwmnﬁmw
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(o) In which case _mrz— curve
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{b) ‘Mention

fc]

{d}

el

{4

two types of transactions that

are included in the current account of

balance of payment.
e SO SRTT fpee WEES (T4 YRy
e e SR o9 |

What do price indices show?
= EE 1@ CTYEm 7

Distinguish between net domestic
product and net national product.

@amﬁwwvﬁ@ﬂ%&ﬂmw
oeter fadfs =11

Write any two functions of money.

TR R QT e I e
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(g):

h}, 5
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‘What is speculative demand for money?

Define inflationary gap.

Whax is money multiplier formula?

@Wmﬁso

£

( Continued ) -

4 (s )

3. Answer any four from the foll®

questions
THE Rz B R wiEtm e ﬁ‘fn

(a) Distinguish  between  balanc
payment and balance of trad
example. -

TR TERS fAgana FAS HE
ST AES N [ 541 |

(b) Distinguish between current and ¢
accounts of balance of paymen

(fagHIed TSR sﬁ—eﬁmwa’a@
Trae N4 FdT w4

(c)  How would you measure gross na
expenditure? State the limitati
this method.

TRl mw gl
(d)‘ Discuss the modern approach to muue\

supply.
- TR R CFaS wqﬁas znwc%r ’
i hall

‘(e) Explain the three motives fordemar:
for money according to Keynes.

PR e R s fSRer wi%ﬁm <
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(6 ) 4 (7

(¢)  Explain the Process of circular flow of

ltrrlcome. In what ways do international
ansactions affect this fiow within a
closed economy? 7+3=1

S SR W o e o
s HEEes  amr A € AT
CRCTC] 2STIS 723 9 =

() What is liquidity trap? Explain its
significance on monetary policy.

ORE I 2 q@ s 2y @ IR 390 |

(g) Explain the causes for the shift of the IS
and LM curves.

IS 5F LM (331 7011 el (2R IRPHE -
R 900 (d) Critically explain the cash transaction
‘ ! approach to the quantity theory of v
(h) What is fiscal multiplier? What factors Toneys ;
affect fiscal multiplier? TR AR ewm wm R wedl
TR BT 7 ey g doriie ko rre T |
B3l %’il“flﬂ’ﬂi ISR . : A £ ‘(e) Compare and contrast between casﬁ
. ' transaction and cash balance approach
4. Answer any four from -the following g' - : to the quantity theory of money. Which
questions : 10x4=40 & : one is superior? Give reasons. 748=10
TR R R I BIRER Ty i L | wﬁf‘?{mwaﬂ@@@@amm—mqﬁ
lai : N, , " - oW S YRR G 1 T e fiefs A L
(a) jExp ain the vano.us basic issues studied g R T T 2 ’ir@ i 1 .
in macroeconomics. ‘ B e
RS SRS wE 91 g REwg e . () Explain the various tools of monetary
B2l ‘ g - : policy. Which one is appropriate togﬁhe
e developing countries? Give reasons. 8+2=10
(b) .Discuss the process of national income ? : o v 1 Rfvw W e @F{'C‘GI
accounting in an open economy. wifaT W : PR TR %ﬂ{@?'ﬁ'?ﬁ‘f
7% See IBR ST AR AEFIO! e 3 eIl -
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(8)

‘(Q) Define inflation. anlam soc1al costs of
inflation. i | 3+7=10

TR e fv‘;m{m’ﬁf%ﬂ ST

(h) Evaluate the Keynes1an model of 1ncorne
determination.

@Wwﬁn‘mwﬁzﬁmmwu

| () Compare the class1ca1 and Keyne51an |
models of income determmatlon and
point out the fundamental d1fferences

4 between the two. ok
L ko R @R 9w ﬁzﬁw Wﬂ% e
. wwwmwmﬁamw

Der1ve IS and LM curves”";Explam the1r ‘
Efpropert1es | G e : 6+4 10
. ISUR LM @m@mﬁfﬁcﬁfﬁf&nm”.ﬂoi bz
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